
Time: 10 Minutes Paper G.Scince 4th (T-2) Total Marks: 10

2nd Month, 3rd Week, 2nd  Day Unit No 2: Impacts of Human Actions on
Food Chain in an Ecosystem

Q.No.1. Write the short answers. 

(i) How human established cities after increasing population?     (3)



________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________

(ii) What are the impacts of human actions in an ecosystem?           (3)



________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________

(iii) Wild organisms have become extinct. How?     (4)

 


________________________________________________________________

________________________________________________________________

________________________________________________________________
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